EARAROBEEIERT — 2 N— IBISH —F

201353A30H (&) 13mKIR4H

m/L\%UtOL:C 1=48 C1=# 52— BT
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B s—n —p BERRE : ~10-8— — BRE— (KR
W Ay RELTY o4 | BRI G Rl Bty
R:TLrFFEaT7s BiArFas7oavsray #®E BE
s tr 5 | BREE 1:47.5 4-3-3-1 |41.9| — 4 503 | HIEER] (KiR)
2(111|&vyT¥a—+ “ 7| 5%.0 (F) (-5 | BB
L2y TELRVF— B:T7A0A—€% HR=HHS
o > 4 | FHEER 1:47.9 1-1-1-1 | 42.5| — 2 460 | ERE (KR)
3l 3| 7A&270> b - 56.0 (2 1/2) (+o0) | FEEAT
X ThANAN B:y—a—-HF— J=HrTrp—L
o LA : -8-10- — AF0ERA (B
alzl 7| 2xEL=—FR—0 5 o 1.(428).2 8-8-10-4 | 41.2 1 (412) s
KO- A4 B:d—IKJ—7 EvilLy RIT7—L
: # 8 | WAHB— 1:48.5 8-9-9-9 |4.7| — 6 1 | KHEBFE (KR)
5/5/5|AAH/ %R 54.0 (1 3/4) (-9) E%z
R:pAM—v—X B:vAIVKT7AX JIE 1%k
S35 i 5 | AMERE 1:48.8 7-5-5-3 | 42.7| — 3 433 | PR (BERE)
EE o | HAET Y 54.0 @ (+4) | PUaFIE
R:A—JFIh7x B:Hh5—H—FK e
NI = Ho4 | LA 1:48.9 3-4-4-5 |42.9| — 7 | 474 | MBS OKR)
71718 ST T H— 56.0 (1/2) (+13) =E—c
LI THTIA LR BIRFNINRZ— =Siikae)
N = o 77 _ EEAS 9
sl 6| YINIINTZ 5 | BXE 196 6-7-7-8 | 43.1 10 (4321) TR (@
R:TITRAFT I BRIV FANY AL
PETIN S e —i A R SR AR 149. —6-6- . - FEEE (KR)
9l8lg|7V¥RATNIR R B <] 1;9@6 A ’ (ﬁz) BN EE
R:xA1z=dr7—2 B:7TU~< b Lie ]
e e 6 | B 1:49.8 2-0-2-7 |44.2| — 9 535 | EBEHEZ (KR)
10/ 8|10| T>7T 77Ny E " 6.0 (1) 4s) | Bl
LY IIN7oF— B4 T7IL—Fh EBRT7—L
® 1—F—@EBIERL
1T=7r= 3,10,8,1,9,6,2,(5,7) ,4
2a=5"= 3,10,1,8,2,9,6,7,5,4
Ja=5= 3,10,1,8,2,9,6,4,5,7
41—F— (1,3),2,7,8,4,10,6,5,9
[ /N
BB 4 1,350 | | 71 K 1-4 1,060/ | | # = 1-4 2,070 | | 3E& 1-3-4 2,070M
B B 4 400M 3-4 490M B = 1-4 2,110 JEE 4-1-3 17,490H
1 210M 1-3 390M B H 4-1 5,590
8 1609

ABICOVWTRDTEEERROODE. TR LIV,




